Proposed Restricted Roads (20mph Limit)
(Scotland) Bill
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Page 7: Your views on the proposal

Q1. Which of the following bestexpresses yourview of the proposal to replace the current30mph default
speed limiton restricted roads with a 20mph limit.

Fully Supportive



Q1. Which of the following best expresses your view of the proposal to replace the current 30mph default
speed limiton restricted roads with a 20mph limit.

Please explain the reasons for your response

Restricted roads are where pedestrians, cyclists and motor vehicles are mostlikelyto meet. Lower speeds
will help reduce the severity of injuries suffered bythe more wulnerable parties, withoutgreatly increasing
journeytime. However, if journeytimes did increase itmightencourage people to walk or cycle which
mighthelp reduce the level of obesity and diabetes in the general public. This should save the NHS
money, reduce carbon emissions and urban air pollution.

Q2. Couldthe aims ofthis proposal be better delivered in another way (withouta Bill in the Scottish
Parliament)?

No

Please explain the reasons for your response
This needs to be implemented from on high by people with some influence on Trans port Scotland.

Q3. What do you think would be the main advantages, ifany, of the proposal?

As described in my previous response, less serious injuries as a resultofvehicles hitting pedestrians.

If done as part of a transportpolicy that made pedes trians highest priority, followed by cyclists, followed
by public transportand finally private vehicles, this would help address some ofthe issues affecting
Scotland, e.g. high levels of obesity and diabetes due to lack of activity, reductionin CO2 emis sions and

less urban air pollution.
Q4. What do you think would be the main disadvantages, ifany, of the proposal?

| cannotsee any disadvantages.

Q5. What other measures do you think would be needed to maximise compliance with the new national
20mph speed limiton restricted roads, forexample in relation to advertising signage and police
enforcement.

More speed cameras.

Redesignroadsto slow private vehicles and help pedestrians, cyclists and public transportto move
smoothly.
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Q6. Taking account of both costs and potential savings, what financial impact would you expect the
proposed Bill to have?

Significant Some Broadly Some Significant
increasein increasein cost- reduction in reduction in | Unsure
cost cost neutral cost cost
Scottish X
Government
Local X
Authorities
Motorists X
Other X
Police
Scotland

Please explain the reasons for your response

Scottish Governmentwill save money by reducing health spending in later years as a resultof a more
active population and less urban pollution. Motorists maysave money - fewer serious collisions could save
moneyon insurance.

Q7. Doyou believe there will be any other benefits to reducing the speed limitfrom 30mph to 20mph?

There may be the potential to revive high streets if motor vehicle traffic is discouraged and people shop
locally rather than driving to out of town superstores.

Page 14: Equalities

Q8. What overall impactis the proposed Bill likelyto have on the following protected groups (underthe
Equality Act 2010): race, disability, sex, genderre-assignment, age, religion and belief, sexual orientation,
marriage and civil partnership, pregnancyand maternity?

Positive
Please explain the reasons for your response

All groups will benefitfrom reduced injuries and urban pollution.

Q9. Could any negative impactof the proposed Bill on any of these protected groups be minimised or
avoided?

No Response
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Q10. Do you consider that the proposed Bill can be delivered sustainablyi.e. without having likely future
disproportionate economic, social and/or environmental impact?

Yes

Please explain the reasons for your response:
Environmental impacts will be positive. Walking and cycling are more sustainable than travelling by car.

Economicimpacts caused byreducing serious injuries to individuals will be positive, as will the general
improvementto health as a resultof more active travel.
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Q11. Do you have any other comments or suggestions on the proposal to establish a20mph defaultspeed
limiton restricted roads?

No Response



